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| Steppina-Up to Secondary School

welcowme +o

at Ripley StT. Thomas

We can’t walt to meet ou...

The maths teachers atRipley are very much looking forward +o meeting
you. Norwmally, at this time of year, you find out about us, we find ont
about you and together we do some maths.

Wnfortunately, due o this year’s transition activities having +o be
cancelled, we won't meet in person until September. However, hopefully
this booklet will help you find out about your maths teacher whilst doing
some fum puzzles ov the way.

You can complete these on your own or with your family.

Complete as much as you can in time for September and bring into school
for your first lesson. We look forward +o meeting youl




Meet the Department...

There are 15 teachers n the Maths Department at Ripley. Throughout this booklet you
will find out some of our favourite maths related thivgs. Can vou list aw interesting fact
for each teacher or find out which puzzles they like doing? WMake a vote of them all here
and bring this answer sheet with you on your first day,
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Be ‘Secondary-Ready with

ﬁ’-\ hegartymaths

Regjistration is free and there are lots of practise
activities for some of the work you have been doivg
already, plus some extra ones to try.

‘Nuwmerise’ from

We recommend trying something every week if vou can —
this will help keep your core maths skills fresh for when

you join us. Register for Nuwmerise here:



https://www.numerise.com/secondary-ready/
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Miss Turley’s Touch-Me-Not Teasers: §' =
Complete the grid using digits 1-5. The number of cells in a block defines the numbers to be = g
placed in it... for example, a block of three cells will contain the digits 1-3. A digit can occur only 3 =
once in each block. Identical digits cannot touch each other, even diagonally. L) 3 =
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TES TURLREY S favourite namber is 13, Wiss Turley says “I first g =
wanted to teach because my cousin did a maths dearee and always gave me = &
li+tle puzzles to solve, which T enjoyed. T also enjoy car rallyivg — using §
average speed calculations, accuracy of measurement and calcnlation helps |
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MRS PYLE loves
2 PLAYING * ¢e
CARD PUZZLEL | % %1 | ¢ 41| A 4| vy A4,
Try to find out which one of these cards | am thinking of. Here

are some clues:

e The value of the card is a prime number

e The values of my two neighbours add up to a multiple of 3

e My card is next to a card which is next to the 2 of hearts




Goldbach's Conjecture

MES BEEDEN'S TRUE OK FRISE
FRCTOKS FUN...Ts each

M <totement true or false?

[a} 8is afactor of 12 J [h] 26 is a factor of 13

lu::l 3 is a prime number [d] 15 is a composite number

le} 2 |5 a factor of 3960
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WG BOBITNSOIT S a pieces of Paper challenge...

TASKA

Take a piece of paper, divide i+ into nine
Arrange all your cards parts and number it like this ‘
o make all three of
these sums true at
the same time:

Then cut out the numbers so you have
a cards, vumbered 1-9

TASK 2 - Arravge your cards +o make
this sum true:
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Speedy Maths

wl;neasttil::ht valueof 9-B+6-5+4-3+2-17 mm @&m@m@m loves fast

Question 2 mental maths. How many of
In a class of 30 pupils, 60% are boys. How many girls are in the class? .
these can you answerin 10

Question 3

| buy 3 CD's at £5.29 each and pay with a £20 note. Hoe much change should | get? minutes? Mr Cameron managed
Question & all 20 in just 13 minutes and 41
What is the smallest number of coins needed to make up the amount of change in question seconds'
3?

Question 6
Question 5 In a class of 30 pupils, 20 pupils like rock music, 15 like rap music, including 10 who like

1 1 1
What is S of 45 + 2 of 55 + = of 65? both. How many do not like either rock or rap music?

Question 7
We know that 9 X 8 = 72. What is the value of 7200 + 8000?

Question 8
What is the value of -z: + -g- ?

Question 9

What is the valueof 1+ + + = + 1 ?
2 4 8

Question 10

What is 20% of 20% of 3507

Question 11
A train arrives in York at 15:05 after a journey of 2 hours 15 minutes from London. At what

time did the train leave London?

Question 12
3 choc boxes and 2 drinks cost £3.40 while 2 choc boxes and 3 drinks cost £3.10. How much

will 1 choc box and 1 drink cost?

Question 13
I have to run 1500 metres in 10 minutes for my gold award. | run at an average of 3m/s. By

how many seconds do | succeed or fail in my quest for a gold award?

Question 14

You are told that x = 2 and y = 3. What is the value of 2+ 3\rz?

Question 15 Question 16

Whatist of X of 967 What is the sum of all the square numbers greater than 100 but less than 2007
z 3

Question 17
We know that 11%is 121. What is the value of 111%?

Question 18

What 3-digit number is both a square number and a cube number?

Question 19
It takes 7.5 hours to fly to New York. The return flight takes 90% of the outward flight time, How
long is the return flight?

Question 20
A computer priced at £325 has its price increased by 25%. A month later it is reduced by

20% in the sale. What is the sale price?




MIgS MONTGOMERY’ 8
MATHE MARYELS MASH UP

Instructions

Find the value of each icon in the area
model below, so that it is equal to 384.
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